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I 
問 1  多くの大学の教職員は自らを「教師」ではなく「教育者」だと捉えているが、それ

によって学生は、その学習機会をどの程度受け入れるかを決定する責任を求められて

いる。 
問 2  ソフトスキルはハードスキルよりも重要度が低いと見られがちだが、実はハードス

キルよりも重要なものであるということ。 
（理由）ソフトスキルには柔軟性があり、特定の分野に縛られずさまざまな状況に応

用可能であるから。 
問 3 (あ) (G) 

(い) (C) 
(う) (E) 

問 4  (エ)、(ケ) 
問 5 2 番目 (E) 

4 番目 (F) 
6 番目 (A) 

問 6 (D)、(E)（順不同） 
 
 
 
II 
問 1 「死んだら眠るのだから」という格言に表れるような、睡眠を軽視する思考様式で

いれば、じきに命を落とすだろうし、その（短い）寿命の質も悪化するだろう。 
問 2 １．進行性の不眠症を伴う、非常に珍しい遺伝子疾患によって患者が死亡するとい

う例。 
２．運転中の眠気が原因で発生した交通事故によって、運転手や事故に巻き込まれ

た人々が死亡するという例。 
問 3 ① (C) 

② (A) 
③ (B) 

問 4 (2) (A) 
(4) (C) 

問 5 (ア) (B) 
(イ) (C) 
(ウ) (C) 
(エ) (B) 
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III 
1) (1) (C) 

(2) (A) 
(3) (B) 
(4) (B) 

2)  The easiest way to deal with overtourism in Japan is to impose a tax on tourists 
from abroad. Foreigners will be reluctant to come to Japan, which will reduce the 
overcrowding of people in tourist areas. Also, the government can invest the 
increased tax revenue in the tourism industry. This will allow tourist destinations 
to use the money for maintenance or repairs, or to compensate for the loss of income 
caused by the decline in the number of tourists.（79 words） 

 
 
 
IV 
問 1 ① (D) 

② (A) 
③ (I) 

問 2  Namely, that is the circumstances in which responding quickly to an opponent’s 
claim or criticism is praised as a “win in the argument” and the other person is 
judged to have been “defeated” unless he/she refutes it right away. 

問 3 ① (H) 
② (J) 
③ (A) 


